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INTERMEDIATE EXAMINATION – 2020 (ANNUAL) 

 Model Set 

BIOLOGY 

Instructions for the candidates :- 

1- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as 

far as practicable. 

2- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

3- bl iz’u i= dks /;kuiwoZd i<+us ds fy, 15 feuV dk vfrfjDr le; fn;k 

x;k gSA 

15 minutes of extra time has been allotted for the candidates to 

read the questions carefully. 

4- ;g iz’u&i= nks [k.Mksa esa gS]  ,oa  

This question paper has two sections: Section-A and Section-B. 

5- [k.M&v esa 42 oLrqfu"B iz’u gSa] bu 42 iz’uksa esa ls fdUgha 35 iz’uksa dk mÙkj 

nsuk vfuok;Z gSA ijh{kkFkhZ }kjk 35 ls vf/kd iz’uksa ds mÙkj fn, tkus dh 

fLFkfr esa dEI;wVj }kjk izFke 35 iz’uksa dk gh ewY;kadu fd;k tk,xkA 

Time :- 3 Hours 15 minutes 
le; % 3 ?kaVs 15 feuV 

Full Mark - 70 
iw.kkZad & 70 

119 
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izR;sd iz’u ds fy, 1 vad fu/kkZfjr gS] budk mÙkj miyC/k djk;s x;s 

OMR&mÙkj i=d esa fn;s x;s lgh òÙk dks dkys@uhys ckWy isu ls HkjsaA 

fdlh Hkh izdkj ds OgkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn dk mÙkj 

iqfLrdk esa iz;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; gksxkA 

In Section-A, there are 35 objective type questions out of which 

any 35 questions have to be answered. In case more than 35 

questions are answered, the the first 35 answers will be 

evaluated. Each questions carries 1 mark. Darken the circle with 

blue/black ball pen against the correct option on OMR-Answer 

Sheet provided to you. Do not use Whitener/Liqued/Blade/Nail 

etc. on OMR Sheet; otherwise the result will be invalid. 

6- [k.M&c esa 18 y?kqmÙkjh; iz’u gSa] ftuesa ls fdUgha 10 iz’uksa ds mÙkj nsuk 

vfuok;Z gSA izR;sd iz’u ds fy, 2 vad fu/kkZfjr gSA blds vfrfjDr  

esa 06 nh?kZ mÙkjh; iz’u Hkh fn, x, gSa] ftuesa ls fdUgha 3 iz’uksa ds mÙkj nsuk 

vfuok;Z gSA izR;sd iz’u ds fy, 05 vad fu/kkZfjr gSaA 

In Section-B, there are 18 Short answer type questions, out of 

which any 10 questions are to be answered, each question 

carries 2 marks. Apart from this, there are 6 Long answer type 

questions, out of which any 3 of them are to be answered. Each 

question carries 5 marks. 

7- fdlh rjg ds bysDVªkWfud midj.k dk bLrseky iw.kZr;k oftZr gSA 
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Use of any electronic appliances is strictly prohibited. 

Section –A 

Objective Type Questions 

iz'u la[;k 1 ls 42 rd oLrqfu"B iz’u gSaA buesa ls fdUgha 35 iz’uksa ds mÙkj nsuk 

vfuok;Z gSA izR;sd iz’u ds fy, 1 vad fu/kkZfjr gSA izR;sd iz’u ds lkFk pkj fodYi fn, 

x, gSa] ftuesa ls ,d lgh gSA vius }kjk pqus x, lgh fodYi dks OMR&mÙkj i=d ij 

fpfUgr djsaA 

Question No.- 1 to 42 are Objective Type Questions, out of which any 

35 questions have to be answered. Each question carries 1 mark. There 

are four options provided with each question only one is correct. You have 

to mark your selected option on the OMR-Sheet. 

1- vkuqoaf'kd dwV esa fdrus dwV gksrs gSa \ 

A- 4      B- 16 

C- 32      D- 64 

How many codons are present in Genetic code ? 

A- 4      B- 16 

C- 32      D- 64 

2- ekuo eknk esa v.MksRlxZ dks izsfjr djus okyk gkWeksZu dkSu gS \ 

A- ,LVªkstu     B- izkstsLVsjkWu   
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C- ,y ,p     D- ,Q ,l ,p 

Ovulation in female (human) is induced by which hormone? 

A. Estrogen     B. Progesterone   

C. L. H.     D. F S H 

3- Hkzw.kdks"k dh mRifÙk fuEukafdr fdlls gksrh gS \ 

A- y?kqchtk.kq ls    B- y?kqchtk.kq/kkuh ls  

C- xq:chtk.kq ls    D- ijkx ufydk ls 

Embryosac originated from which of the following structure? 

A. Microspore    B. Microsporangium   

C. Megaspore    D. Pollen tube 

4- ,M~l ds fy, buesa ls dkSu tk¡p mi;qDr gS \ 

A- ihlhvkj     B. osLVuZ DykWV 

C. b ,r vkb ,l ,    D- lkWmnuZ CykWV 

Which one is applicable for screening test of AIDS ?  

A. PCR     B. Western blot 

C. ELISA     D. Southern blot 

5- fuEukafdr dkSu ,atkbe ihlhckj rduhd esa bLrseky gksrk gS\ 

A- ikWyhesjst     B- gsyhdst   

C- VSd ikWyhesjst    D- dksj&,atkbe 
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Which type of Enzyme is used in PCR technology? 

A. Polymerase    B. Helicase   

C. Taq Polymerase   D. Core Enzyme 

6- Mh ,u , vaxqyNkih dk vk/kkj D;k gS \ 

A- ukbVªkstuh {kkj vuqØe esa =qfV  B- vuqØe esa cgq:irk  

C- Mh,u, f}xq.ku    D. buea ls lHkh 

The basis of DNA finger printing is -  

A. Error in base sequence        B. Polymorphism in sequence  

C. DNA replication     D. All of these 

7- ÅtkZ dk LFkkukarj.k ,d iks"kh Lrj ls nwljs esa fdruk izfr’kr gksrk gS \ 

A. 5%      B- 10%   

C- 15%      D- 20% 

The percentage of energy transferred from one trophic level to 

another is - 

A. 5%      B- 10%   

C- 15%      D- 20% 

8- thok.kq ,oa dod D;k gksrs gSa \ 

A- miHkksDrk     B- f}rh;d miHkksDRkk 

C- vi?kVd     D- buesa ls lHkh  
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Bacteria and Fungi are - 

A. Consumer    B. Secondary consumer  

C. Decomposers    D. All of these  

9- ehFkSukstsal] buesa ls D;k mRikfnr ugha djrk gS \ 

A- ehFksu     B- vkWDlhtu 

C- dkcZu MkbZvkWDlkbM   D- gkbMªkstu lYQkbZM 

Methanogens do not produce 

A. Methane     B. Oxygen 

C. Carbon dioxide    D. Hydrogen sulphide 

10- fuEukafdr esa ukbVªkstu fQDlj dkSu gS \ 

A- ;wyksfFkzDl     B- ,ukcsuk rFkk ukWLVkWd 

C- iSjkehf’k;e     D- bueas ls lHkh 

Which of the following is a nitrogen fixer? 

A. Ulothrix     B. Anabaena and Nostoe 

C. Paramecium    D. All of these 

11- 2n + 1 rFkk 2n + 2 dh fLFkfr D;k dgykrh gS \ 

A- vlqxqf.krk     B- ijcgqxqf.krk   

C- A nksuksa B rFkk    D- buesa ls dksbZ ugha 

Conditions of 2n + 1 and 2n + 2 are called as - 
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A. Aneuploidy    B. Allopolypoidy  

C. Both A and B    D. None of these 

12- Mh ,u , ij ijkcSaxuh fdj.kksa ds vlj ls D;k izHkko iM+rk gS \ 

A- ukbVªkstuh {kkj tksM+h dk foyksiu gksrk gS 

B- ukbVªkstuh {kkj tksM+h tqVrk gSA 

C- Fkkbfeu Mkbej curk gSA 

D- buesa ls lHkh 

Effect of ultraviolet rays on DNA is - 

A. Deletion of base pair   B. Addition of base pair 

C. Formation of thymine dimer  D. All of these 

13- euq";ksa ds fyax&fu/kkZj.k dk dkjd dkSu gS\ 

A. X- xq.klw=     B- Y- xq.klw= 

C- A nksuksa B rFkk    D- buesa ls dksbZ ugha 

Which one is sex-determination factor in humans ? 

A. X- chromosome    B. Y-chromosome 

C. Both A and B    D. None of these 

14- vkjfd;ksIVsfjDl fdl dky esa ik;k tkus okyk thok’e i{kh Fkk\ 

A- tqjkfld dky    B- dkcksZfuQsjl dky   

C. f=vkfld dky    D- ØSVsf’k;l dky 
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Fossil bird Archaeopteryx evolved during which period ? 

A. Jurassic period    B. Carboniferous period 

C. Triassic period    D. Cretaceous period 

15- tarqvksa rFkk ikS/kksa ds chp la;ksth dM+h dkSu gS\  

A. thok.kq     B. fo"kk.kq 

C. ;wXyhuk      D. vehck 

Which one is the connecting link between animal and plant? 

A. Bcteria     B. Viruses 

C. Euglena     D. Amoeba 

16. tsE;wYl fdldh fo’ks"krk gS\ 

A. Liat      B. gkbMªk 

C. ;hLV      D. nksuksa B rFkk C 

Gemmules are specialization of which of following? 

A. Sponges     B. Hydra 

C. Yeast     D. Both B and C 

17-   fdu ikS/kksa esa fu"kspu ds fy, ty ek/;e vko’d gS \ 

A- 'kSoky     B- czk;ksQkbV~l 

C. VsfjMksQkbV~     D- buesa ls lHkh 
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In which plant, water medium is necessary for fertilization? 

A. Algae     B. Bryophytes 

C. Pteridophytes    D. All of these 

18-  fdl eknk tarq esa en pØ ugha gksrk gS \ 

A- xk;      B- dqÙkk 

C- euq";     D- [kjxks’k 

In which female animal, oestrus cycle does not occur ?  

A. Cow     B. Dog 

C. Humans     D. Rabbit 

19- v.Mk.kq ds dksf’kdk nzO; esa dkSu&lh lajpuk ugha gksrh gS\ 

A- jkbckstkse     B- xkWYth dk; 

C- lsUVªkslkse     D- ekVksdkWf.Mª;k 

Which organelle is not present in the cytoplasm of ovum ? 

A. Ribosome    B. Golgi complex   

C. Centrosome    D. Mitochondria 

20- Vªiksusek] iSfyMe fdl fcekjh dk jksx tud gS \ 

A- flQfyl     B- xksukjh 

C- gfiZl     D- {k; jksx 

Treponema pallidum is a causal organism of which disease? 
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A. Syphilis     B. Gonorrhoea   

C. Herpes     D. Tuberculosis 

21- TC-ywi fuEukafdr fdl vkj ,u , esa ik;k tkrk gS \ 

A- jkbckstksey vkj ,u ,   B- lans’kokgd vkj ,u , 

C- LFkkukarj.k vkj ,u ,   D- buesa ls lHkh 

TC- Loop is found in which of the following RNA? 

A. r-RNA     B. m-RNA 

C. t-RNA     D. All of these 

22- ^izfrys[ku* dh fØ;k esa fdl ,atkbe dh vko’;drk gksrh gS\ 

A- Mh,u, ikWyhesjst&I   B- Mh,u, ikWyhesjst&III   

C- gsyhdst     D- vkj ,u , ikWyhesjst 

Which enzyme is required in the process of transcription ? 

A. DNA Polymerase-I   B. DNA Polymerase-III 

C. Helicase     D. RNA Polymerase 

23- dhVksa rFkk if{k;ksa ds ia[k fdl rjg ds vax dgykrs gSa\ 

A- letkr vax     B- vletkr vax 

C- vo’ks"kh vax     D- buesa ls dksbZ ugha 

Wings of insects and birds are known as - 

A. Homologous organ   B. Analogous organ 
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C. Vestigial organ    D. None of these 

24- e:LFkyh; vuqdwyu dk mnkgj.k fuEukafdr esa dkSu gS \ 

A- Å¡V      B- ukxQuh 

C- nksuksa A rFkk B    D- vejcsy 

Which of the following is an example of desert adaptation ? 

A. Camel     B. Opuntia 

C. Both A and B    D. Cuscuta 

25- ch lh th oSfDlu fdl fcekjh ls cpko ds fy, fn;k tkrk gS\ 

A. ,M~l      B. {k; fcekjh 

C- pspd     D- Vkb¶ok,M 

BCG vaccine is introduced to prevent against which of the 

following disease?  

A. AIDS     B. Tuberculosis  

C. Chicken Pox    D. Typhoid 

26- fuEufyf[kr esa jscht fcekjh dk jksxtud dkSu gS\ 

A- thok.kq     B- fo"kk.kq   

C- izksVkstksvk     D- buesa ls A rFkk B 

Rabies disease is caused by which causal organism in the 

followings? 

A. Bacteria     B. Virus 
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C. Protozoa     D. Both A and B 

27- fuEukafdr esa dkSu LovlaØkE; chekjh gS \ 

A- gkFkh ikao     B- Fkkykflfe;k 

C- eh;kLFksfu;kxzkfQl    D- gfiZl 

Which disease in the following is a autoimmune disease? 

A. Elephantasis    B. Thalassemia   

C. Myasthenia gravis   D. Herpes 

28- Lkqugjs /kku esa dkSu&lk Vªkal thu gS \ 

A- ukbVªksthust     B- QkbVksbu fluFksVst  

C- ykbxst     D- buesa ls lHkh 

Which transgene is present in Golden Rice? 

A. Nitrogenase    B. Phytoene Synthase 

C. Ligase     D. All of these 

29- ch- Vh- VkWfDlu D;k gksrk gS \ 

A- var% dksf’kdh; fyfiM  B- var% dksf’kdh; fØlVyhu izksVhu 

C- ckâ dksf’kdh fyfiM  D- ckâ dksf’kdh; fyfiM 

What is BT toxin?  

A. Intra Cellular lipid   

B. Intra cellular crystalline protein 
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C. Extra cellular crystalline protein   

D. Extra cellular lipid. 

30- fuEukafdr esa dkSu eNyh dh fons’kh iztkfr gS \ 

A- dryk      B- jksgw 

C. ekaxqj     D- buesa ls dksbZ ugha 

Which of the following is exotic variety of fish? 

A. Catla     B. Rohu 

C. Magur     D. None of these 

31- ckâLFkkus laj{k.k dk mnkgj.k dkSu gS \ 

A- okuLifrd m|ku    B- izkf.k m|ku  

C. nksuksa A rFkk B    D- ikfjfLFkfrd ra= 

An example of Ex-situ conservation is - 

A. Botanical garden   B. Zoological garden 

C. Both A and B    D. Ecosystem 

32- izdf̀r esa lcls vf/kd la[;k fuEukafdr fdl Lih’kht dh gS\ 

A- vko`Ùkchthvksa    B- dhVksa ds 

C- if{k;ksa ds     D- lw{ethoksa ds 

Which of the following have the highest number of species in 

nature? 



14 
 

A. Angiosperms    B. Insects 

C. Birds     D. Microbes 

33- ladVxzLr Lih’kht ds fy, ckâLFkkus laj{k.k dk ,d mnkgj.k dkSu gS\ 

A- jk"Vªh; m|ku    B- fgedkjh ifjj{k.k  

C- lqjf{kr tSo eaMy    D- Ik’kq fcgkj 

An example of the ex-situ conservation method for endangered 

species is - 

A. National Park    B. Cryopreservation 

C. Biosphere reserve   D. Wildlife sanctuary 

34- fuEukafdr esa izks|ksfxdh mRikn dkSu gS\ 

A- â;wE;wyhu     B- ¶ykSoj lSoj 

C- th ,e Qly    D- buesa ls lHkh 

Which of the following is product of biotechnology? 

A. Humulin     B. Flavr savr 

C. G M Crops    D. All of these 

35- Ikzkdf̀rd vkuqoaf’kd vfHk;ark fuEukafdr esa dkSu gS\  

A. bZ’kjsf’k; dksykbZ     B- ,xzkscSfDVfj;e V~;wfeQsfl;al 

C. lhMkseksukl Lis’kht   D- cSlhyl lcVkbfyl 

Natural genetic engineer in the following is - 
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A. Escherichia coli          B. Agrobacterium tumefaciens 

C. Pseudomonas species  D. Bacillu subtilis 

36- gkFkh ds fy, lajf{kr {ks= fuEukafdr esa dgk¡ gS \  

A. iykew i'kqfogkj     B- isfj;kj i'kqfogkj 

C. flEyhiky i'kqfogkj   D- buesa ls lHkh 

Which one is protected area for elephants?  

A. Palamau Sanctuary          B. Periyar Sanctuary 

C. Simlipal Sanctuary   D. All of these 

37- vEyh; o"kkZ djus okys iznw"kd fuEukafdr esa dkSu gS \  

A. lYQj MkbZvkWDlkbM   B- dkcZu MkbZ vkWDlkbM 

C. dkcZu eksuks vkWDlkbM   D- buesa ls lHkh 

Which pollutant is responsible for Acid rain?  

A. SO2             B. CO2 

C. CO      D. All of these 

38- xzhu gkml ¼gfjr ?kj½ xSlsa D;k lks[krh gS\  

A. vojDr fofdj.k     B- ijkcSxuh fofdj.k 

C. nksuksa A rFkk A    D- xkek fdj.ksa 

Green house gases absorb which of the following ?  

A. Infrared radiations          B. Ultraviolet radiations 
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C. Both A and B    D. Y-ray radiation 

39- ty esa Hkkjh /kkrq iznw"kd fuEukafdr esa dkSu gS \  

A. fudsy      B- vklsZfud 

C. nksuksa A rFkk B    D- QkWlQksjl 

Which of the following is a heavy metal water pollutants?  

A. Nickel            B. Arsenic 

C. Both A and B    D. Phosphorus 

40- lfCt;ksa dks fuEukafdr esa dkSu uqdlku igq¡pkrk gS \  

A. ih , ,u      B- ¶yksjkbM 

C. nksuksa A rFkk B    D- dkcZu MkbZ vkWDlkbM 

Which of the following is harmful for vegetavbles?  

A. PAN            B. Fluoride 

C. Both A and B    D. CO2 

41- fjysfDlu dk lzko dgk¡ ls gksrk gS\  

A. vijk      B- dkWjil Y;wfVve 

C. nksuksa A rFkk B    D- vaMk.kq 

Relaxin is secreted by -  

A. Placenta            B. Corpus luteum 

C. Both A and B    D. Ovum 
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42- v.MksRlxZ fdlesa dk;kZfUor gksrk gS \  

A. vijk esa       B- 14osa fnu 

C. v.Mk’k; esa     D- nksuksa B rFkk C 

Ovulation takes place in - 

A. Placenta            B. About 14th day 

C. Ovary     D. Both B and C 
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Section-B 

Non-Objective Type Questions 

Short Answer Type Questions

iz’u la[;k 1 ls 18 rd y?kq mÙkjh; dksfV ds iz’u gSaA buesa ls fdUgha 10 iz’uksa ds mÙkj 

nsaA izR;sd iz’u ds fy, 2 vad fu/kkZfjr gSaA viuk mÙkj vf/kdre 50 'kCnksa esa nsaA  

           10x2=20 

Question no. 1 to 18 are Short answer type questions. Answer any 10 

question. Each question carries 2 marks. Give your answer in about 50 

words.          10x2=20 

1- letkfyd rFkk fo"ketkfyd esa mnkgj.klfgr varj Li"V djsaA  2 

Distinguiwsh between Homothallic and Heterothallic conditions 

with the help of examples. 

2- Ekuo v.Mk.kq dh lajpuk dk ukekafdr fp= cuk,¡A    2 

Show the structure of human ovum with the help of well labelled 

diagram. 

3- MkmUl flaMªkse ij ,d laf{kIr fVIi.kh fy[ksaA    2 

Write a brief note on Down’s syndrome. 

4- Mh,u, vaxqyhNki ls D;k le>rs gSa\ O;k[;k djsaA    2 

What do you understand by DNA finger printing? Explain it. 

5- tho'e foKku ls D;k le>rs gSa\ fofHkUu egkdYiksa ds uke crk,¡A 2 
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What do you understand by Palaeontology? Give the name of 

various eras. 

6- ch0 Mh,u, rFkk tsM Mh,u, esa pkj varj crk,¡A    2 

Describe any four differences between B-DNA and Z-DNA. 

7- iqu;ksZxt Mh,u, izkS|ksfxdh ds izØe ds pj.kc) vuqØe dks fy[ksaA 2 

Describe the steps involved in the process of Recombinant DNA 

technology. 

8- Rkykch; ikfjfLFkfrd ra= dks flQZ fp= }kjk n’kkZ,¡A   2 

Expalin pond ecosystem with the help of diagram only. 

9- tsy oS|qr dk lapyu D;k gS\ bldh nks mi;ksfxrkvksa dks crk,¡A 2 

What is Gel electrophoresis? Mention any two applications of it. 

10- nkn jksx ds jksxtud] laØe.k ds dkj.k] y{k.k rFkk mipkj ds ckjs es crk,¡A 

Describe the causal organism, mode of transmission, symptoms 

and therapy of Ringworm disease.     2 

11- ,aVhtsUl rFkk ,aVhckWMh dks ifjHkkf"kr djsaA     2 

Define antigens and antibody. 

12- fuEukafdr fdUgha nks ij mnkgj.k lfgr fVIi.kh fy[ksaA   2 

A. jk"Vªh; i'kq     B. i'kqfogkj 

C. lqjf{kr tSoeaMy    D. ifo= miou 

Write the short notes on any two of the followings :- 
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A. National Park    B. Sanctuary 

C. Biosphere reserve   D. Sacred groove 

13- fpfdRlk ,oa ekuo LokLF; esa tSo&izkS|ksfxdh ds fdUgha pkj mi;ksfxrkvksa ds 

ckjs esa fy[ksaA         2 

Mention any four applications of Biotechnology in medicines and 

human health. 

14- fuEukafdr ij mnkgj.k lfgr la{ksi esa fy[ksa %&    2 

A. tSfod [kkn     B. izfrtSfod 

Write in brief on the followings with the help of suitable examples. 

A. Biofertilizer    B. Antibiotics 

15- ty iznw"k.k ds fofHkUu dkj.kksa dk la{ksi esa o.kZu djsaA    2 

Explain the various causes of water pollution in brief. 

16- xUuk rFkk QwyxksHkh dh nks&nks mUur fdLeksa ds uke crk,¡A  2 

Name any two superior varieties, each of sugarcane and 

cauliflower. 

17- fuEukafdr fdUgha nks ij la{ksi esa fy[ksa %&     2 

A. okbVy bUMsDl    B. iztuu lkeF;Z 

C. vkcknh&jksttud laca/k   D. mRind&miHkksDrk laca/k 

Write short notes on any two of the following in brief :- 

A. Vital-index     

B. Reproductive potential 



21 
 

C. Population-Pathogen relationship 

D. Producer-Consumer realtionship 

18- fuEukafdr fdUgha nks dks ifjHkkf"kr djsa %&     2 

A. iks"kh Lrj     B. ikfjfLFkfrd fijkfeM 

C. mÙkd lao/kZu    D. Hkzw.k lao/kZu 

Define any two of the followings : 

A. Trophic level    B. Ecological Pyramid 

C. Tissue culture    D. Embryo culture 

Long Answer Type Questions

iz’u la[;k 19 ls 24 rd nh?kZ mÙkjh; dksfV ds iz’u gSaA buesa ls fdUgha 3 iz’uksa ds mÙkj 

nsuk vfuok;Z gSA izR;sd iz’u ds fy, 5 vad fu/kkZfjr gSaA mÙkj vf/kdre 120 'kCnksa esa 

gksus pkfg,A          3x5=15 

Question no. 19 to 24 are Long answer type questions. Answer any 3 

questions. Each question carries 5 marks. Give your answer in about 120 

words.          3x5=15 

19- xq.klq=h; foiFku ls D;k le>rs gSa \     5 

fuEukafdr dks le>k;sa & 

A. foyksiu  B. f}xq.ku   C. izfrykseu 

What do you understand by Chromosomal aberrations? 

Explain the followings - 
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A. Deletion  B. Duplication  C. Inversion 

20- fuEukafdr iz’uksa ds mÙkj nsa %&      5 

A. izkjaHk dwV rFkk lekiu dwV ds uke fy[ksaA 

B. izfrys[ku ls vki D;k le>rs gSa\ 

C. izksVhu la’ys"k.k esa jkbckstkse dh D;k Hkwfedk gS\ 

Answer the following questions :- 

A. Give the name of Initiation codon and Termination codon. 

B. What do you understand by Transcription ? 

C. What is the role of Ribosome in protein synthesis? 

21- fuEufyf[kr esa varj Li"V djsaA      5 

A. dhV ijkx.k rFkk i{kh ijkx.k 

B. ykekdZokn~ rFkk MkfoZuokn~ 

Distinguish between the followings :- 

A. Insect pollination and Ornithophily. 

B. Lamarckism and Darwinism 

22- fuEukafdr esa fdUgha nks dk o.kZu djsa %&     5 

A. ,M~l    B. fofdj.k iznw"k.k  C. f}fu"kspu 

Describe any two of the followings :- 

A. AIDS   B. Radiation Pollution   

C. Double fertilization 
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23- fuEufyf[kr dks dsoy fp= }kjk n’kkZ,¡ %&     5 

A. ekuo eknk ds vaMk’k; dk vuqizLFk dkV esa iqVdksa dks n’kkZrs gq, ukekafdr  

fp= cuk,¡A 

B. ekuo o`"k.k ds vuqizLFk dkV dk ukekafdr fp= cuk,¡A 

Show the following with the help of diagram only. 

A. Draw well-labelled diagram of T.S. of human ovary showing 

various follicles. 

B. Draw well-labelled diagram of T.S. of human Testes. 

24- fuEukafdr esa fdUgha nks dk o.kZu djsa     2½x2=5 

A- lw{e iztuu ds ykHk 

B- /ofu iznw"k.k   

C- tSo fofof/krk&laj{k.k 

Describe any two of the followings :- 

A. Benefits of micropropagation 

B. Sound Pollution 

C. Conservation of biodiversity. 

 


